INTERMEDIATE ALGEBRA ‘ ‘/(/ -
GPS#10 3.1 LINEAR EQUATIONS NAME: g ,’HLO , hé#(/ Dlrdff )
Useful Guidelines: ‘

To solve a Linear Equation in One Variable:

* Clear parentheses and combine like terms as needed.

* Get all terms with the variable on one side of the equation and all numbers on the other si

* Eliminate the fractions: Multiply both sides by the least common denominator as needed. %
* @
* Get an equation with just the variable on one side of the equation.
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Solve the following linear equations in one variable:
1. a) 9x—5x+2=3+7x+8
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GPS #11 3.2 INTRODUCTION TO PROBLEM SOLVING NAME: PdeJ P ij'd

Useful Formulas: r = rate, p = principal , t =time

Distance: d =r¢t; Simple Interest: I = prt; Perimeter: P=2L+2W

To solve for a specified variable,

Step 1: Make a sketch or table, if possible.

Step 2: Assign a variable to the unknown value.

Step 3: Write an equation using the variable.

Step 4: Gather all terms without that variable to the other side of the equation.
Step 5: Solve for that variable until the coefficient of the variable is one.

1. Find the following formulas for x :

a) 20=2y+2x b) P=2y+2x
Ro-RY = 2x PRy = &ax
g = X ey,

f To—y (’;«i = AP ’\/
2. Itto or James to drive at the speed of 40 mil€s per hour to work. What was

the dlstance between his home and work?

= Borie D =+ /
Yz Qo mnph =Romph X o by &s Rl
PSR 7@ A0 m’*—?

3. If Fernando invests $1,000.00 in a mutual fund account at the estimated annual interest rate
of 15 percent. What is the estimated interest earned after 1 year?

. 1,000 T = Pet
Yo 15y b = 10006 * (orit) (1)
T = by = ([O@o % |
_ =)
T =] el =t

4. The width of a rectangle farm land is 20 feet more than the length. Find the width and the
length of the rectangle farm langlf the perimeter of the farm land is 2,040 feet.
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Pz &L +2 (Lrao) 0o n RO+L
i R,0u0 = 2L 4 RL +UO = 20+500
iy Rpuo—up =L+ do [O= cao |recs
C-2,00 0Fc~) RO0O =~ 4 L
L = ? ROOO _ L
w = (L+2 o) peek “_

%‘ L= S20 )P‘tﬁd"

5. The sum.of three consecutive even integers is 18. What are the integers?
¥ .;.@ﬁ:z) Fet U] o & {@
Sx+ 6 — g
R x = &G

> = 2
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Useful Guidelines: écj‘f /

To solve for a linear inequality:
Step 1: Simplify each side by using the distributive property to clear parentheses as needed. /
Step 2: Gather all terms with variables on one side of the inequality and /L/;
all numbers on the other side.
Step 3: Solve for that variable until the coefficient of the variable is one.
Note: Remember to reverse the direction of the inequality symbol
when you need to multiply or divide each side of an inequality by a negative number.

Solve the following linear inequalities and graph the solution sets:

1. a) 2x+30<50 b) 15+3y=>y+5
I < Bo-80 8y ~Y > B-ls
AX L 2O By > ~1O
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3. a) 9-x2-4(x—2)+1 b) >(m+4)>—2(3- m)+
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3.4 COMPOUND INEQUALITIES

- NamE: vl Rudel_

Useful Definitions:

Intersection of 4 and B: AN B ={x|x is an element of 4 and x is an element of B}
Union of 4 and B: AU B ={xlx is an element of 4 or x is an element of B}
Compound Inequality: Two inequalities connected by and or or. 4

1. Letd = {1,3,6,814,1520} and B ={2,4,6,8,10,12}

pondenzect ;O
a) ANB= gg‘gﬁ
r

W AL .

b)AuB=i LER3pE, T, (o

For each of the following compound inequalities, decide whether intersection or union should be
used. Then give the solution set in both interval notation and graph form.

2. a) y—3<15and y+2>1

Y<isez (O Y212
y<1ig O Y-l

/ At S ////74’///) i} Y
v

Sol. Set Sy [ -1 <J:!4‘?’}
tendempy el ot C-) 18

3. a) -2x<—-4 or -10x>0

x> U xto
x>2 UX<o
e f / lf-;’f awmww e Qf“f"f{?‘i“*’i'“"?} %

o1, Sef {x ! 22 or xLo}

Srer - Aok (—-—oe, 0 JU[2,00)

b) —x+6<2 and 4+x<10
~x<2-60) K&lo-y
-x4 -4 O xXLL

x>u O X46
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Y
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b) x<2 or x<10
X¢pUx & in
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